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Ireland
Depth: 980 - 1080
X: 
Y: 
a: 1
m: 1.8
n: 2
RW: 0.079

968 - 990

990 - 1007

1007 - 1016

1016 - 1056

1056 - 1100
DEPTH

few gas bubbles

Marshall A1

Ireland (1007-1026 ft)

• Minor separation between density 
porosity and BVW

• High GR (+100 API) due to 
micacious sand (georeport)

• Some gas show (bubbles) 
observed (georeport)

• Sw + 90%

• Wet Sand
982 3.1698 131.3867 0.3086 0.3486

982.5 3.2188 129.3491 0.2856 0.3256
983 3.1698 126.9712 0.2775 0.3175

983.5 3.004 119.9535 0.2703 0.3103
984 2.9297 119.9578 0.2597 0.2997

984.5 2.8646 113.6934 0.2503 0.2903
985 2.8035 106.9182 0.2468 0.2868

985.5 2.7608 110.9434 0.246 0.286
986 2.7294 112.4035 0.248 0.288

986.5 2.7187 108.2432 0.2522 0.2922
987 2.7187 105.9409 0.2615 0.3015

987.5 2.7397 112.2176 0.2748 0.3148
988 2.7845 122.7943 0.2817 0.3217

988.5 2.8035 130.4371 0.2922 0.3322
989 2.8507 132.5496 0.3029 0.3429

989.5 2.8909 129.0435 0.3129 0.3529
990 2.9496 124.6528 0.3123 0.3523

990.5 2.9989 123.6269 0.2994 0.3394
991 3.0541 121.026 0.2862 0.3262

991.5 3.0976 119.7824 0.2813 0.3213
992 3.1698 121.5442 0.2812 0.3212

992.5 3.1808 121.5483 0.2831 0.3231
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